
 

 

Simply Rack & Warehouse Equip, Inc. 

www.simplyracks.com 

 8560 N Interstate 35 

 Georgetown, TX 78626 

                                   512-869-2803 
 

           

 

 

 

 

 

Below are photos and installation instructions for the cantilever: 

 

1. Attach base to the column with 4 long bolts.  Add the back anchoring kickplate to the column 

with the same long bolts.  Use flat washer in front in front and locking washer in back in front of 

nut. 

2. Add arms to the column with 4 M20 (3/4”) bolts with locking washer in back next to nut.  Repeat 

on all columns. 

3. Stand the column and secure with a forklift while standing the 2nd column.   

4. Install the 4 horizontals.  Horizontals attach to the columns with 4 M12 bolts.  The bolts are 

shared with a common column.   Make sure to add the nut for the common M12 bolt while 

standing second column for stability, you will need to remove the nut when adding the 3rd 

column.   

5. Install the 2 x-brace sets with 5 M12 bolts (4 on each corner and 1 in the middle) 

6. Make sure system is level and add anchors.  2 anchors per base + 1 per kickplate in the 

back.  Stagger the anchoring (example:  front left/middle right/kickplate left)   

http://www.simplyracks.com/


 

 

 



 

 

 



 

 

 



 

 

 



 

 

 
 


